EARAROBEEIERT — 2 N— IBISH —F

2017118128 (B) SHE=4H

SR N

5

[(E7E] Hin

‘ [R1%] & ‘ [REBE] — | Z (%) 16000 B

[A~&£] 1 7% :7,000,000  ~ 23 :2,800,000 33 :1,800,000” 43 :1,100,000F ~ 5 j& :700,000 M

& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
st 2 | EEEEE 1:37.4 2-2 34.8|75.6 | 7 488 | EHEE (EH)
1 6| LS A52.0 (=) (—) | A
L:A—-KFA+ra7 #B:FL>yJovHia HET77— L
SR H o2 | SHER 1:37.4 3-3 34.7]76.0 | 3 448 | FRE (EH)
2011 |IvF¥F—AKZ=Z—% 55.0 (7 £) (- BEADE
R:/GIUR N B:O-—#K=—4% J—HrIr—L
> = 4 2 A H 1:37.4 3-3 34.7|76.0 | 5 M4 | FEE— (EH)
38|11 ¥ RIVFTXX .0 (75%) (o) | B $5TLyEI5T 5747
SRFAOd=IE B:vA R b AT0 EvJLy RT7—L4
¢ 2= 4 2 | EIDRME 1:37.5 1-1 35.0| 73.5 | 2 500 | BREREE ()
4|55 NARSTA 54.0 (172) (—) |BEE
¥ JANZI N 8260774 b R
. S o2 | AFHEIR 1:37.5 10-10 | 34.0| 75.5 | 6 464 | NEfREL ()
5810 EFLF—IL 56.0 (74%) (=) ) TU—>7 7k
74 =TTV 07 BT7-XTU-> BhEFREMASHIVATHRS
Sy L - st 2 | AiBiE 1:37.6 6-6 34.6| 74.0 | 4 486 | EEB— (FR)
6 7 HATET7—= 55.0 (7E) (=) EEAHGEE
LNZ—ka1—X B:HTHITY &R =R %5
o S5 42 | BEAIEM 1:37.6 10-10 34.2| 74.3 | 10 484 | BTSFREL ()
7 3| 7H—=27)b 55.0 (7€) (=) | PRoRAE—
XD ThANAN BT J=HrTp—L
R S 2 | V. a3/ :37.6 3-5 34.8| 73.9 | 1 468 | FEEX (EH)
8l7lg|71¥y FT7AX 540 (NF) (=) @) Frr-L—s1y
Z:ANT =TI B Fxy RU—)X=T Ik ST -4
oa e N KHER :37. — . . FIIAR (Ei#)
ol7|g| Tz Hsive o2 e 1(13/72>7 8-7 345 73.1 | 9 (436) IFE};*—E
RLiN=U054 B:FT4HNIT Bl EXE
B - = s 2 | RERk®A 1:38.3 8-7 35.1| 66.3 | 11 482 | EEELE (FH)
10 4 DWW >T4=Z71 540 31/2) - FETEE
RV RKYZYRAIR B:FAFMUw Y AE%S
o 42 | - 1:38.4 7-7 35.3| 64.4 | 8 494 | REAERI (ER)
1A 2 | TP vED 54.0 (172) () |HAEA
L:Er/n7oq4 BEHED HEES
@ 21 L
E»y) 47.5-34.9
NA> 24 LA | 12.9-11.9-12.5-12.6-12.6-12.0-11.3-11.6
® 1—F—@EBIERL
13—7F-
Pal=5F=
33—7F— |5,6(1,8,11)7,2(4,9) (3,10)
43—+ — 5,6(1,11)8,7(2,4,9) (3,10)
[ N5
BB 6 2,520/ 714K 1-6 1,430H e E 1-6 1,4408 JEE 1-6-11 17,090H
B B 6 510M 6-11 3,340 B E 1-6 5,870H JEH 6-1-11 148,630H
1 190M 1-11 840M B H 6-1 14,980M
1 290M

ABICOVWTRDTEEERROODE. TR LIV,




